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VERY IMPORTANT :

A. The question paper consists of  3 parts (Physics, Chemistry & Mathematics ). Please fill the OMR answer

Sheet  accordingly and carefully.

iz'u i= ds rhu Hkkx (Physics, Chemistry & Mathematics) gSA OMR mRrj iqfLrdk dks Øekuqlkj o
/;kuiwoZd HkjsaA

B. Please ensure that the Question Paper you have received contains All the questions in each Section and

Pages. If you found some mistake like missing questions or pages then contact immediately to the Invigilator.

lqfuf'pr djsa fd iz'u i= esa izR;sd [k.M o ist esa lHkh iz'u gSA ;fn vkidks iz'u i= esa dksbZ =qfV tSls
dksbZ iz'u ;k ist ugha feyrk gS] rks fujh{kd ls lEidZ djsaA

INSTRUCTIONS (funsZ'k)
1. All questions are Single correct type questions. Each of these questions has four choices (A), (B), (C)

and (D) out of which ONLY ONE is correct.

lHkh iz'u ,dy lgh fodYi izdkj ds iz'u gSA izR;sd iz'u ds pkj fodYi (A), (B), (C) rFkk (D) fn;s x;s
gS ftuesa ls dsoy ,d lgh gSA
For each question, you will be awarded 4 marks if you have darkened only the bubble corresponding to

the correct answer and zero mark if no bubble are darkened. In all other cases, No negative mark will be

awarded.

izR;sd lgh mrj ds fy, vkidks 4 uEcj feysxs vxj vkius lgh mrj ls lacaf/kr cqycqys dks dkyk fd;k
gS vkSj 'kwU; uEcj feysxs ;fn dksbZ cqycqyk dkyk ugha fd;k gS rFkk xyr mRrj nsUks ij dksbZ _.kkRed
vad ugha gSA

2. Indicate the correct answer for each question by filling appropriate bubble in your answer sheet.

vkids izR;sd lgh mrj ds fy, mi;qDr cqycqys dks mrj iqfLrdk esa ml iz'u la[;k ds lkeus dkys djsaA
3. Use of Calculator, Log Table, Slide Rule and Mobile is not allowed.

 dksjs dkxt] fDyi cksMZ] ykWx rkfydk] LykbM :y] dSydqysVj] dSejk] lsyQksu] istj vkSj fdlh izdkj
ds bysDVªkWfud midj.k ijh{kk d{k esa vuqer ugha gSA

USEFUL DATA

Atomic weights: Al = 27, Mg = 24, Cu = 63.5, Mn = 55, Cl = 35.5, O = 16, H = 1, P =  31, Ag = 108, N = 14,

Li = 7, I = 127, Cr = 52, K=39, S = 32, Na = 23, C = 12, Br = 80, Fe = 56,  Ca = 40,  Zn = 65.5, Ti = 48,

Ba = 137, U = 238, Co= 59, B =11, F = 19, He = 4, Ne = 20, Ar = 40 , Mo = 96, Ni = 58.5, Sr = 87.5,

Hg = 200.5 , Tl = 204, Pb = 207 [Take : ln 2 = 0.69,  ln 3 = 1.09, e = 1.6 × 10–19, m
e
= 9.1 × 10–31 kg ]

Take  g = 10 m/s2 unless otherwise stated
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SECTION-I
[SINGLE CORRECT CHOICE TYPE]

Q.1 to Q.10 has four choices (A), (B), (C), (D) out of which ONLY ONE is correct.

Space for rough work

1. The distance and displacement of a moving object are definitely equal when it

(A) Moves in a circle (B) Slows down

(C) Speeds up (D) Moves straight without turning back

,d xfr'khy oLrq ds fy, nwjh o foLFkkiu fuf'pr :i ls cjkcj gksaxs] tc oLrq :

(A) o`Ùkh; xfr djsxh (B) tc j¶rkj /kheh gksxh

(C) tc j¶rkj c<+sxh (D) fcuk eqM+s ljy js[kk esa xfr djsxh

2. A net acceleration of 4 m/s2 acts on a 5 kg mass kept at rest. Distance travelled by the mass in 6 s is

(A) 72 m (B) 36 m (C) 24 m (D) 12 m

,d fojkekoLFkk esa j[ks 5 kg nzO;eku ij 4 m/s2 dk dqy Roj.k yxk;k tkrk gS rks 6 sec esa bl nzO;eku ds }kjk r;

dh xbZ nwjh gksxh &

(A) 72 m (B) 36 m (C) 24 m (D) 12 m
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3. An object of mass 5 kg occupies a volume of 500 cm3. The relative density of the mass with respect to

water is

(A) 0.1 (B) 10 (C) 0.01 (D) 1

,d 5 kg nzO;eku dh oLrq dk vk;ru 500 cm3 gS rks bl nzO;eku dk lkisf{kd ?kuRo ¼ikuh ds lkis{k½ D;k gksxk ?

(A) 0.1 (B) 10 (C) 0.01 (D) 1

4. A ball of mass 500 g kept near the earth's surface will attract the earth with a force of

(A) 9.8 N (B) 19.6 N (C) 4.9 N (D) 29.4 N

,d 500 g dh xsan tks fd /kjrh dh lrg ds ikl gS oks /kjrh dks fdl cy ls vkdf"kZr djsxh –

(A) 9.8 N (B) 19.6 N (C) 4.9 N (D) 29.4 N

5. Friction between two surfaces in contact increases when

(A) A layer of grease is applied between them (B) They are pressed harder against each other

(C) They move over each other (D) They are pulled apart

nks lrgksa ds chp ?k"kZ.k c<+sxk tc –

(A) lrgks ds chp xzhl yxk nsrs gSA (B) nksuksa dks vf/kd tksj ls ,d&nwljs ij nckrs gSA

(C) nksuksa ,d&nwljs ij xfr djrs gSA (D) tc nksuksa dks vyx dj nsrs gSA
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6. Write down the unit of Universal Gravitational constant ‘G’ in S.I.

(A) Nm2 /kg2 (B) Newton (C) kg2/Nm2 (D) dyne × cm2/g2

lkoZf=kd xq:Rokd"kZ.k fLFkjkad ‘G’ dh bdkbZ S.I. i)fr esa&

(A) Nm2 /kg2 (B) Newton (C) kg2/Nm2 (D) dyne × cm2/g2

7. When a running motorbike accelerates suddenly, the pillion rider has a tendency to fall backward. This is an

example of:

(A) Newton's first law of motion (B) Newton's second law of motion

(C) Newton's third law of motion (D) Newton's law of gravitation

tc ,d xfr'khy eksVjlkbZfdy dks vpkud ls Rofjr fd;k tkrk gS] rks pkyd ds ihNs cSBk O;fDr ihNs dh vksj fxjrk

gSA ;g fLFkfr fuEu esa ls fdldk mnkgj.k gS &

(A) U;wVu dk xfr dk izFke fu;e (B) U;wVu dk xfr dk f}rh; fu;e

(C) U;wVu dk xfr dk r`rh; fu;e (D) U;wVu dk xq:Rokd"kZ.k dk fu;e

8. If the time-displacement graph of a particle is parallel to the time-axis, then velocity of the particle is :-

(A) infinity (B) unity

(C) equal to acceleration of the body (D) zero

;fn ,d d.k dk le; & foLFkkiu xzkQ le; & v{k ds lekUrj gS] rks d.k dk osx gksxk &

(A) vuUr (B) ,d

(C) oLrq ds Roj.k ds leku (D) 'kwU;
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9. For the figure -

fn;s x;s fp=k ds fy,

  
C B 

A 







(A) A B C
  

  (B) B C A
  

  (C) C A B
  

  (D) A B C
  

   = 0

10. A force of 6 kg and another of 8 kg can be applied together to produce the effect of a single force of-

6 kg rFkk 8 kg ds cYkksa dks fuEUk esa ls dkSUklk cYk izkIr djus ds fy, ,d lkFk yxk;k tk ldrk gS &

(A) 1kg (B) 11kg (C) 15 kg (D) 20 kg
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Q.11 to Q.20 has four choices (A), (B), (C), (D) out of which ONLY ONE is correct.

Space for rough work

11. One mole of CO
2
 contains

(A)  236.02 10  atoms of O (B) 236.02 10  atoms of Carbon

(C)  2318.10 10  molecules of CO
2

(D) 3 gm atoms of CO
2

,d eksYk CO
2
 j[krk gS &

(A)  vkWDlhtUk ds 236.02 10  ijek.kq (B) dkcZUk ds 236.02 10  ijek.kq

(C)  CO
2
 ds 2318.10 10  v.kq (D) CO

2
 ds 3 gm ijek.kq

12. An atom is

(A) the smallest particle of matter known

(B) the smallest particle of a gas

(C) the smallest indivisible particle of an element that can take part in a chemical change

(D) radioactive emission

,d ijek.kq gS &

(A) Kkr inkFkZ dk lw{ere d.k

(B) xSl dk lw{ere d.k

(C) ,d rRo dk vfoHkkT; lw{ere d.k tks fd jklk;fUkd ifjorZUk esa Hkkx ysrk gS

(D) jsfM;ks/kehZ mRltZUk
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13. Acid + Metal-oxide  ?

(A) Base + Water (B) Salt + Water (C) Base + Salt (D) Metal + Salt

vEYk + /kkrq vkWDlkbM  ?

(A) {kkj + ty (B) yo.k + tYk (C) {kkj + Yko.k (D) /kkrq + Yko.k

14. Number of electrons in one mole of hydrogen is

(A) 236.02 10 (B) 2312.046 10 (C) 233.0115 10 (D) indefinite

,d eksYk gkbMªksstUk esa bysDVªkWUkksa dh la[;k gS &

(A) 236.02 10 (B) 2312.046 10 (C) 233.0115 10 (D) Kkr ugha fd;k tk ldrk
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15. Which of the following correct structural isomers of butane :

fuEUk esa ls dkSUklk C;wVsUk dk lajpUkk leko;oh gS &

(A) (i) and (iii) (B) (ii) and (iv) (C) (i) and (ii) (D) (iii) and (iv)

16. Pentane has the molecular formula C
5
H

12
. It has

(A) 5 covalent bonds (B) 12 covalent bonds (C) 16 covalent bonds (D) 17 covalent bonds

isUVsUk dk v.kqlw=k C
5
H

12 
gS ;g j[krk gS &

(A) 5 lgla;kstd ca/k (B) 12 lgla;kstd ca/k (C) 16 lgla;kstd ca/k (D) 17 lgla;kstd ca/k

17. Carbon forms four covalent bonds by sharing its four valence electrons with four univalent atoms, e.g. hydro-

gen. After the formation of four bonds, carbon attains the electronic configuration of :

(A) helium (B) neon (C) argon (D) krypton

dkcZUk ds pkj la;ksth bysDVªkWUk pkj ,dkdh ijek.kq ¼mnk- & gkbMªkstUk½ ls lk>k djds pkj lgla;kstd ca/k dk fuekZ.k

djrs gSA pkj ca/kksa ds fuekZ.k ds i'Pkkr dkcZUk bysDVªkWfUkd foU;kl xzg.k djsxk &

(A) ghfy;e (B) fu;kWUk (C) vkWxZUk (D) fØIVkWu
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18. Which of the following statements is not a correct statement about the trends when going from left to right

across the periods of periodic Table :

(A) The elements become less metallic in nature

(B) The number of valence electrons increases.

(C) The atoms lose their electrons more easily

(D) The oxides become more acidic

vkorZ lkj.kh ds vkorksZa esa cka;s ls nka;s rjQ tkUks esa fuEUk esa ls dkSUklk dFkUk lgh ugha gS &

(A) rRo dk /kkfRo; xq.k de gksrk gS

(B) la;ksth bysDVªkWUkksa dh la[;k c<+rh gS

(C) ijek.kq viUks bysDVªkWUk vklkUkh ls R;kxrs gS

(D) vkWDlkbM vf/kd vEYkh; gksrs gS

19. Which of the folowing is Dobereiner's triad :

(A) Ne, Ca, Na (B) H
2
, N

2
, O

2
(C) Li, Na, K (D) Na, Br, Ar

fuEUk esa ls dkSulk Mkscjfu;j f=kd gS &

(A) Ne, Ca, Na (B) H
2
, N

2
, O

2
(C) Li, Na, K (D) Na, Br, Ar

20. A solution turns blue litmus red. Its pH value is likely to be :

,d foYk;Uk uhYks fyVel i=k dks YkkYk djrk gSA bldh pH ekUk gS &

(A) 4 (B) 7 (C) 9 (D) 12
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[SINGLE CORRECT CHOICE TYPE]

Q.21 to Q.30 has four choices (A), (B), (C), (D) out of which ONLY ONE is correct.

21. The roots of Quadratic equation x2 + 14x + 45 = 0 are -

f}?kkr lehdj.k x2 + 14x + 45 = 0 ds ewy gSa&

(A) – 9,5 (B) 5, 9 (C) – 5, 9 (D) – 5, – 9

22. The roots of the equation x2 – x – 3 = 0 are-

lehdj.k x2 – x – 3 = 0 ds ewy gSa &

(A) Imaginary (B) Rational (C) Irrational (D) None of these

(A) dkYifud (B) ifjes; (C) vifjes; (D) buesa ls dksbZ ugha

23. If the roots of the equation x2 – 10 x + 21 = m are equal then m is -

;fn lehdj.k x2 – 10 x + 21 = m ds ewy leku gksa] rks m cjkcj gS&

(A) 4 (B) 25 (C) – 4 (D) 0
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24. Which term of the series 3 + 8 + 13 + 18 + ... is 498-

Js<+h 3 + 8 + 13 + 18 + ..... dk dkSulk in 498 gS&

(A) 95th (B) 100th (C) 102th (D) 101th

25. The number of terms in the series 101 + 99 + 97 + .....+ 47 is-

Js<+h 101 + 99 + 97 + .....+ 47 esa inksa dh la[;k gS&

(A) 25 (B) 28 (C) 30 (D) 20

26. The 19th term from the end of the series2 + 6 + 10 + ....+ 86 is –

Js.kh 2 + 6 + 10 + ....+ 86 dk vUr ls 19 ok¡ in gksxk&

(A) 6 (B) 18 (C) 14 (D) 10

27 A = {a, e, i, o, u}and B = {i, o} then the true statement is -

(A) A  B (B) B  A (C) A  B (D) A is equivalent B

A = {a, e, i, o, u} rFkk B = {i, o} gksa] rc lR; gS %

(A) A  B (B) B  A (C) A  B (D) A rqY; B
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28. Given the sets A = {1,2,3}, B = {3,4}, C = {4,5,6}, then A (B  C) is -

(A) {3} (B) {1,2,3,4} (C) {1,2,4,5} (D) {1,2,3,4,5,6}

fn;k x;k gS] fd leqPp; A = {1,2,3}, B = {3,4}, C = {4,5,6}, rc A (B  C) gS -

(A) {3} (B) {1,2,3,4} (C) {1,2,4,5} (D) {1,2,3,4,5,6}

29. The number of ways in which 3 persons can occupy 6 rooms separately is-

3 O;fDr;ksa }kjk vyx vyx 6 dejksa esa Bgjus ds rjhdksa dh la[;k gksxh&

(A) 2 (B) 20 (C) 120 (D) 216

30. If  nCn–4= 5 then the value of n is -

;fn nCn&4= 5  gks rks n dk eku gksxk &

(A) 5 (B) 3 (C) 4 (D) 6

Space for rough work

MATHS


